

Gabrielle Jaworskyj

08/25/2023 09:00 AM | Delivery DAy 1 08/26/2023 09:00 AM | Touch ups 08/27/2023 09:00 AM | Strike PO: Shipping Address: 27405 Pacific Coast Hwy, Malibu, Ca,, US Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

			·		
Description		Qtty	Price		Total
Bars & Barback	s				
	Garden Bars - Jardin Du Champ Elysees - Hedge Straight 8' Glass top 8'W x 31"L x 43"H	3	\$550.00	Т	\$1,650.00
	Barback - Tokyo - Straight Basic 8' - Metal Need Color For Barback 8'W x 18"L x 8'3"H - Frame Color Upon Request	2	\$286.00	Т	\$572.00
	Shelves - A Frame Folding Shelves 79âN N W29âN N £6âN N H	1	\$165.00	Т	\$165.00
		Total Bars & Barbacks		cks	\$2,387.00
Pizza Station					
	Buffet and Table Display - Aspen Food Station 8' Frame to Be painted in In Black and Custom Awning rend and White	1	\$2,090.00	Т	\$2,090.00
	In Stock Pizza this Way Sign	1	\$82.50	Т	\$82.50
	Decor - Fruit Box	20	\$5.50	Т	\$110.00
		Total Pizza Station		tion	\$2,282.50
Cheese and Cru	udite station				
	Custom Made Signage	1	\$275.00	Т	\$275.00
	Decor - Fruit Box	10	\$5.50	Т	\$55.00
	Decor - Fruit Crates Different Tones Wood 23"W x 19"l x 16"H	4	\$5.50	Т	\$22.00
	Dining Tables - Siena - Rectangular Wood 8'x40" 8' x 4' x 31"H	1	\$550.00	Т	\$550.00

Description		Qtty	Price		Total
	Stand Up Tables - Siena - Round Wood 30" X 41 5/8" H	2	\$302.50	Т	\$605.00
		Total Cheese and Crudite station		tion	\$1,507.00
Flower Cart Are	a				
	Dining Tables - Siena - Rectangular Wood 8'x40" 8' x 4' x 31"H	2	\$550.00	Т	\$1,100.00
	Buffet And Display Tables - Napa - Dark Wood 8â 🖟 30" x 30" H	1	\$495.00	Т	\$495.00
	Custom Made Signage	1	\$275.00	Т	\$275.00
		Tot	tal Flower Cart A	rea	\$1,870.00
Salad & Rotisse	rie Chicken				
	Buffet and Table Display - Aspen Food Station 8' Frame in rust Black awning In Green and white	2	\$2,090.00	Т	\$4,180.00
	Custom Made Salad Signs	1	\$275.00	Т	\$275.00
	Small Decor - Tahiti - Basket Cylinder Small 20" x 20"H	4	\$60.50	Т	\$242.00
	Small Decor - Tahiti - Wicker Basket Round Large 23" x 12"H	3	\$60.50	T	\$181.50
	Small Decor - Tahiti - Wicker Basket Round Small 8"Diam x 8"H	4	\$60.50	T	\$242.00
	Small Decor - Tahiti - Basket Rectangular Large 18"x18"x18"H	4	\$60.50	T	\$242.00
	Small Decor - Tahiti - Basket Rectangular Small 14" x 14"X 14"H	4	\$60.50	T	\$242.00
	Small Decor - Tahiti - Basket Cylinder Large 26"x 22"H	3	\$60.50	T	\$181.50
		Total Salad &	Rotisserie Chic	ken	\$5,786.00
Smoothie Statio	on				

Description		Qtty	Price		Total
6	Props - Carts - Display Bike Cart W/ Drawing - Mela Painted in Blue as the picture - Accent in Fuchsia accents _ Top Sarape Blue 4âN MV x 140âN M x 40âN M H	1	\$880.00	Т	\$880.00
		Tota	al Smoothie Sta	tion	\$1,155.00
Chairs and Table	es				
	Small Dining Tables - Siena - Round Wood 29 3/4" X 30" H	8	\$275.00	Т	\$2,200.00
	Stand Up Tables - Siena - Round Wood 30" X 41 5/8" H	8	\$302.50	T	\$2,420.00
	Dining Chairs - Bali - Wood & Cane Back	32	\$27.50	T	\$880.00
		Total Chairs and Tables			\$5,500.00
Furniture					
	Ottomans - Standard Pod Colors To match the Shades on the Presentation Deck 18"RND x 17"H - Cover Color Upon Request	9	\$33.00	Т	\$297.00
	MIX AND MATCH PILLOWS Colors To match the Shades on the Presentation Deck	16	\$22.00	Т	\$352.00
	Though Blankets Mix and Match Colors To match the Shades on the Presentation Deck	6	\$22.00	Т	\$132.00
	Sofas - Bali - Bamboo White Wash 73"W x 30"D x32â\  \( \text{H} \)	3	\$412.50	Т	\$1,237.50
FIS	Coffee Tables - Bora Bora - White Wash 47"W x 32"L x 16â® H	3	\$275.00	Т	\$825.00
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33⤠IH	6	\$66.00	Т	\$396.00
			Total Furniture		\$3,239.50
General					
	Garden Swings - Painted In Fuchsia to match Colors on Deck 80"W x 21"L x 57"h	1	\$572.00	Т	\$572.00
	Dj Booths - Berlin - Multi-mirror Small 5'W x 25"L x 41.5"H	1	\$440.00	Т	\$440.00

Description		Qtty	Price		Total
	Serving & Display Carts - Madrid - Serving Cart	1	\$198.00	Т	\$198.00
	Danal Margues Light Cign	1	\$550.00		\$550.00
	Panel - Marquee Light Sign - To Be custom Painted as rendering	1	\$550.00	ı	\$550.00
	Napkins - White Hemstitch	100	\$3.30	Т	\$330.00
			Total General		\$2,090.00
Services					
	Delivery Install and Pick up	1	\$6,860.00		\$6,860.00
	Damage- Ware & Tare 6%	1	\$1,371.00		\$1,371.00
	Packing Sup & Misc	1	\$457.00		\$457.00
	Manager - diagram and Consultation	1	\$700.00		\$700.00
	Dance Floor - rental Installation and Strike	1	\$3,400.00		\$3,400.00
Please make ch	ecks navable to Revelry Inc		Total Produ	cts:	\$25,817.00
Please make checks payable to Revelry, Inc.  Note: Prior to deliveries and pick-ups all invoices must be pay in full  Please ready the contract and sign it		Total Labor/Services/Misc:		\$12,788.00	
			Tax	es:	\$2,251.14
			Discou	nts:	(\$2,120.80)
Notes	Notes		To	otal:	\$38,735.34
			Payme		(\$17,269.00)
			Balar	nce:	\$21,466.34